
SC/CSE 4215 M Final Exam February 27, 2013

LE/CSE 4215 Formula & Data Sheet.

1 Names, Acronyms, Structures:

AMPS: Advanced Mobile Phone System BPSK: Binary Phase Shift Keying BSC: Base Station Controller BSS:
Base Station Subsystem BTS: Base Transceiver Station CC: Country Code CDMA: Code Division Multiple Access
DSSS: Direct Sequence Spread Spectrum EDGE: Enhanced Data for Global Evolution FDD: Frequency Division
Duplexing FDMA: Frequency Division Multiple Access FHSS: Frequency Hopped Spread Spectrum FSK: Fre-
quency Shift KeyingGFSK: Gaussian FSKGGSN: Gateway GPRS Support NodeGMSC: Gateway MSCGMSK:
Gaussian Minimum Shift Keying GPRS: General Packet Radio Service GR: GPRS Register GSM: Global System
for Mobile Communication HLR: Home Location Register HSCSD: High Speed Circuit Switched Data IMSI: In-
ternational Mobile Subscriber Identity IS: Intermediate System ISDN: Integrated Services Digital Network MCS:
Modulation and Coding Schemes MS: Mobile Station MSC: Mobile Switching Center MSISDN: Mobile Station
ISDN MU: Mobile Unit NDC: National Destination Code NSS: Network and Switching Subsystem OFDM: Or-
thogonal Frequency Division Multiplexing OSS: Operation Subsystem PDN: Packet Data Network PSTN: Public
Switched Telephone Network RSS: Radio Subsystem RTT: Round Trip Time SIM: Subscriber Identity Module
SGSN: Serving GPRS Support Node SN: Subscriber Number TDD: Time Division Duplexing TDMA: Time
Division Multiple Access TMSI: Temporary MSI USDC: United States Digital Cellular VLR: Visitor Location
Register

2 Constant and Units

c = 3⇥ 108 m/s (in free space), c = 2⇥ 108 m/s (in media)
1 Å = 10�10 m
1 µm = 10�6 m
1 m = 10�3 km
1 nm = 10�9 m
1 s = 103 ms
kbps = 103 bps
Mbps = 106 bps
Gbps = 109 bps
kBps = 210 Bps
MBps = 220 Bps
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3 Equations

E = hf, f = c/�, d = v · t
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Q-Function Table 
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